
Utility Trailer Mfg Co—Parts Catalog 

1 

01-1550-0-007 
CORNER CAP ALUM RH/CS SQUARE 

EA 

1.3 lbs 

01-1550-0-008 
CORNER CAP ALUM RH/CS SQUARE 

EA 

1.3 lbs 

01-1550-0-010 
CORNER CAP ALUM RH/CS RADIUS 

EA 

1.6 lbs 

01-1550-0-011 
CORNER CAP ALUM LH/RS RADIUS 

EA 

1.6 lbs 

01-1550-0-014 
CORNER CAP ALUM RH/CS 

EA 

1.8 lbs 

01-1550-0-015 
CORNER CAP ALUM LH/RS 

EA 

1.8 lbs 

01-1550-0-016 
CORNER CAP ALUM RH/CS 

EA 

1.4 lbs 

01-1550-0-020 
CORNER CAP ALUM RH/CS FRP VAN 

EA 

2.0 lbs 



Utility Trailer Mfg Co—Parts Catalog 

2 

01-1550-0-021 
CORNER CAP ALUM LH/RS FRP VAN 

EA 

2.0 lbs 

01-1550-0-022 
CORNER CAP ALUM LH/RS 

EA 

1.6 lbs 

01-1550-0-023 
CORNER CAP ALUM RH/CS 

EA 

1.7 lbs 

01-1550-0-026 
CORNER CAP CASTING LH/RS TBK89' 

EA 

3.4 lbs 

01-1550-0-027 
CORNER CAP CASTING RH/CS TBK89' 

EA 

3.4 lbs 

01-1550-0-028 
CORNER CAP ALUM LH/RS SQ DRYFRT 

EA 

1.8 lbs 

01-1550-0-030 
CORNER CAP ALUM RH/CS 

EA 

1.3 lbs 

01-1550-0-031 
CORNER CAP ALUM LH/RS 

EA 

1.3 lbs 



Utility Trailer Mfg Co—Parts Catalog 

3 

01-1550-0-032 
CORNER CAP ALUM LH/RS RAD VS2D 

EA 

2.0 lbs 

01-1550-0-033 
CORNER CAP ALUM RH/CS RAD VS2D 

EA 

2.0 lbs 

01-1550-0-034 
CORNER CAP ALUM LH/RS RAD VS1D 

EA 

2.0 lbs 

01-1550-0-035 
CORNER CAP ALUM RH/CS RAD VS1D 

EA 

2.0 lbs 

01-1550-0-036 
CORNER CAP ALUM LH/RS 

EA 

2.0 lbs 

01-1550-0-038 
CORNER CAP ALUM RH/CS 

EA 

2.0 lbs 

01-1550-0-039 
CORNER CAP ALUM LH/RS 

EA 

2.0 lbs 

01-1550-0-043 
CORNER CAP ALUM REEFER RH/CS 

EA 

1.6 lbs 



Utility Trailer Mfg Co—Parts Catalog 

4 

01-1550-0-044 
CORNER CAP ALUM REEFER LH/RS 

EA 

1.6 lbs 

01-1600-0-019 
CARLIN ALUM HAT 1 3/8 X 97 7/8" 

EA 

4.2 lbs 

01-2055-0-001 
CLAMP ALUM ROOF & S/WALL LNG 8' 

EA 

0.8 lbs 

01-2055-0-002 
CLAMP ALUM STRIP DF 327" 

EA 

2.9 lbs 

01-2055-0-014 
CLAMP ALUM EXT STRIP 99-5/8 S/WALL LNG VS1/2RA 

EA 

1.6 lbs 

01-2155-0-004 
CLIP ALUM FLOOR 110" LONG 

EA 

8.0 lbs 

01-2170-0-009 
CLOSURE ALUM 99 1/4 

EA 

6.1 lbs 

01-2170-0-014 
CLOSURE ALUM BOT 3000R 264 

EA 

6.1 lbs 



Utility Trailer Mfg Co—Parts Catalog 

5 

01-2170-0-021 
CLOSURE ALUM FRT CRNR 106-1/8 

EA 

4.9 lbs 

01-2170-0-034 
CLSR ALUM LING UPPER REAR CR 

EA 

4.6 lbs 

01-2170-0-039 
CLOSURE ALUM TOP CRN 625-3/8 

EA 

28.8 lbs 

01-2170-0-040 
CLOSURE ALUM TOP CORNER 625-3/8 

EA 

28.7 lbs 

01-2170-0-043 
CLOSURE ALUM TOP SIDE CORNER 625-3/8" 

EA 

28.8 lbs 

01-2170-0-052 
CLOSURE ALUM REAR FLAT SIDESKIN 104-3/4" VS1/2RA 

EA 

0.8 lbs 

01-2175-0-001 
CLOSURE PLASTIC T-K 97-7/8 

EA 

2.2 lbs 

01-2500-0-008 
COVER ALUM CORR PANEL ENDS 98" 

EA 

1.0 lbs 



Utility Trailer Mfg Co—Parts Catalog 

6 

01-3450-0-014 
FRAME DOOR ALUM CENTER X114.5" 

EA 

4.6 lbs 

01-3450-0-027 
FRAME DOOR ALUM GSK RS 112.5" 

EA 

3.5 lbs 

01-3450-0-029 
FRAME DOOR ALUM REAR 112 1/2" 

EA 

4.6 lbs 

01-3450-0-037 
FRAME DOOR REAR RS 112-1/2" L 

EA 

4.5 lbs 

01-3450-0-041 
FRAME DOOR ALUM REAR 112 1/2" 

EA 

3.6 lbs 

01-3450-0-055 
FRAME DOOR ALUM RS&CS 

EA 

4.3 lbs 

01-3450-0-056 
FRAME DOOR ALUM CTR VERT 

EA 

3.4 lbs 

01-3550-0-022 
GASKET ROUND 1-1/4" DIA X 6' 

EA 

0.1 lbs 



Utility Trailer Mfg Co—Parts Catalog 

7 

01-3550-0-025 
PELMET GASKET TAUTLINER WHITE 108' PCS 

FT 

0.6 lbs 

01-3550-0-028 
PELMET GASKET TAUTLINER GRAY 108' PCS 

FT 

0.5 lbs 

01-4950-0-004 
LEAF HINGE REAR DOOR 

EA 

2.0 lbs 

01-6500-0-014 
POST ALUM ZEE 2" X 114-1/2" 

EA 

3.1 lbs 

01-6500-0-032 
POST ALUM HAT 1-1/4" X 110-1/ 

EA 

7.1 lbs 

01-6500-0-035 
POST ALUM ZEE 1-3/8" X 114-1/ 

EA 

2.6 lbs 

01-6500-0-037 
POST ALUM PPW RAD FRT X 119" 

EA 

21.7 lbs 

01-6500-0-039 
POST ALUM PPW SQ FRT X 119" 

EA 

18.2 lbs 



Utility Trailer Mfg Co—Parts Catalog 

8 

01-6500-0-042 
POST ALUM ZEE 1-3/4" X 114-1/2" 

EA 

3.2 lbs 

01-6500-0-072 
POST ALUM RAD FRT AAR 116-3/8" 

EA 

48.7 lbs 

01-6500-0-081 
POST ALUM SQ FRT PPW FRP 126" 

EA 

22.8 lbs 

01-6500-0-084 
POST ALUM J 2000R 1-3/8 X 122 

EA 

5.6 lbs 

01-6500-0-087 
POST ALUM RAD FRT PPW 116-3/8" 

EA 

18.7 lbs 

01-6500-0-089 
POST ALUM RAD FRT PPW 118-3/8" 

EA 

20.1 lbs 

01-6500-0-091 
POST ALUM J XHD 1-3/8 X 111-3/4 

EA 

7.6 lbs 

01-6500-0-110 
POST ALUM J HD 1 X 111-3/4 

EA 

4.3 lbs 



Utility Trailer Mfg Co—Parts Catalog 

9 

01-6500-0-112 
POST ALUM HAT D/F 111-3/4 

EA 

7.4 lbs 

01-6500-0-117 
POST ALUM PPW RAD FRT 114-7/8" 

EA 

16.6 lbs 

01-6500-0-126 
POST ALUM RAD FRT PPW 120" 

EA 

21.3 lbs 

01-6500-0-135 
POST ALUM PPW RAD FRT 116" 

EA 

18.1 lbs 

01-6500-0-143 
POST ALUM J HD 1 X 52" 

EA 

1.8 lbs 

01-6500-0-155 
POST ALUM RAD FRT PPW 116 3/8 

EA 

12.8 lbs 

01-6500-0-156 
POST ALUM RAD FRT NAT 116-3/8 

EA 

12.8 lbs 

01-6500-0-157 
POST ALUM J HD 1 X 111-3/4 

EA 

3.8 lbs 



Utility Trailer Mfg Co—Parts Catalog 

10 

01-6500-0-159 
POST ALUM MILL RAD FRT 120" 

EA 

14.8 lbs 

01-6500-0-160 
POST ALUM PPW RAD FRT 120" 

EA 

14.0 lbs 

01-6500-0-162 
POST ALUM HAT 110-3/16" 

EA 

8.8 lbs 

01-6500-0-163 
POST ALUM MILL RAD FRT 120 

EA 

14.0 lbs 

01-6500-0-164 
POST ALUM MILL FIN RAD FRT 120 

EA 

12.7 lbs 

01-6650-0-028 
RAIL ALUM COACH VERT 1/4" X 96 2000R 

EA 

1.2 lbs 

01-6650-0-046 
RAIL ALUM FRT TOP X 97" 2000R 

EA 

15.5 lbs 

01-6650-0-047 
RAIL ALUM CEILING COACH 1/16" X 93.75 2000R 

EA 

1.2 lbs 



Utility Trailer Mfg Co—Parts Catalog 

16 

01-9100-0-056 
TROUGH THLD REAR ALUM EXT 98-1/16 LG 3" FLR YR08 

EA 

21.8 lbs 

02-0936-0-023 
BOLT HEX 1/2-13NC X 5-1/2 GRD2 

EA 

0.4 lbs 

02-0936-0-027 
BOLT HINGE 3000R 1/2"X4-1/2 

EA 

0.3 lbs 

02-0936-0-028 
BOLT 1/2 X 4-1/2 RDR SS 3000R 

EA 

0.3 lbs 

02-0945-0-003 
BOLT SQ HEAD 3/8"-16X1" GR 5 

EA 

0.1 lbs 

02-0945-0-005 
BOLT SQ HEAD 5/16 X 2 

EA 

0.1 lbs 

02-0962-0-012 
BOLT FH SQ NECK 3/8"-16X1-1/2 ZINC 

EA 

0.1 lbs 

02-1050-0-017 
BOX ELECT W/SWITCH W/PERMALOGIC DUAL CIRCUIT 

EA 

2.8 lbs 



Utility Trailer Mfg Co—Parts Catalog 

17 

02-1050-0-018 
BOX ELECT JCT DEEP RECEPTABLE W/UTM LOGO 

EA 

3.0 lbs 

02-1050-0-019 
BOX ELECT JCT 20AMP DEEP RECEPTABLE W/LOGO 

EA 

3.0 lbs 

02-1050-0-020 
BOX ELECT JCT 30AMP DEEP RECEPTABLE W/LOGO 

EA 

3.0 lbs 

02-1800-0-029 
CHAIN LINK SST DOOR HOLDBACK 

EA 

0.1 lbs 

02-2055-0-002 
CLAMP NYLON FOR RUBBER KAZOO 

EA 

0.0 lbs 

02-2150-0-012 
CLIP 1/4 TO 1/2 CABLE 

EA 

0.0 lbs 

02-2150-0-014 
CLIP ABS SENSOR .125 DIAMETER 

EA 

0.0 lbs 

02-2450-0-015 
GLADHAND EMERG 38 DEG W/LOGO 

EA 

0.5 lbs 



Utility Trailer Mfg Co—Parts Catalog 

18 

02-2450-0-016 
GLADHAND SVC 38 DEG W/LOGO 

EA 

0.5 lbs 

02-5721-0-024 
NUT LOCK TINNERMAN 5/16-18 

EA 

0.0 lbs 

02-5721-0-025 
NUT NYLOCK PATCH 3/8-16 ZINC 

EA 

0.0 lbs 

02-5721-0-037 
NUT 1/2" NYLOCK 

EA 

0.0 lbs 

02-5721-0-044 
NUT 3/8" CENTERLOCK 

EA 

0.0 lbs 

02-5721-0-069 
NUT LOCK 1/2 LO-PROFILE 

EA 

0.0 lbs 

02-5721-0-072 
NUT 1/2 LOW PRO RDR SS 3000R 

EA 

0.0 lbs 

02-7040-0-001 
HOG RING GALVANIZED (HILLS #2) 

LB 

0.0 lbs 



Utility Trailer Mfg Co—Parts Catalog 

52 

03-2170-0-360 
CLOSURE ALUM RR S/W A-SLT 108-1 

EA 

4.5 lbs 

03-2170-0-361 
CLOSURE ALUM RR S/W A-SLT 108-1 

EA 

4.5 lbs 

03-2175-0-012 
CLOSURE PLASTIC 98-5/8 

EA 

0.9 lbs 

03-2500-0-061 
OVERLAY SST0215X8-15/16X108-3/4 

EA 

7.1 lbs 

03-2500-0-064 
OVERLAY SST .0215X9-3/8X116-1/8 

EA 

6.8 lbs 

03-2500-0-083 
OVERLAY 10GA SST AIR/LITE LINE 

EA 

1.3 lbs 

03-2500-0-098 
OVERLAY SST .0215X7-11/16X116 

EA 

5.5 lbs 

03-2500-0-099 
OVERLAY SST .0215X7-1/2 X 118 

EA 

5.5 lbs 



Utility Trailer Mfg Co—Parts Catalog 

53 

03-2500-0-115 
OVERLAY TRANSLITE 7-11/16X115 

EA 

3.6 lbs 

03-2500-0-116 
COVER ALUM PPW .040X7-11/16X115-1/2 OVERLAY IN-

EA 

3.5 lbs 

03-2555-0-040 
CR MEM REAR CASE 5" X 101-3/8 

EA 

60.1 lbs 

03-2557-0-003 
CR MEM 8GA 9X2-3/16X101-1/4 

EA 

57.2 lbs 

03-2690-0-108 
DECAL BARRIER DOOR W/UTM LOGO 

EA 

0.0 lbs 

03-2690-0-129 
DECAL 2000R FRONT CORNER POST 

EA 

0.0 lbs 

03-2690-0-191 
DECAL BARRIER DOOR W/UTM 2005 L 

EA 

0.0 lbs 

03-2690-0-208 
DECAL 3000R FRONT CORNER POST 

EA 

0.0 lbs 



Utility Trailer Mfg Co—Parts Catalog 

54 

03-2690-0-209 
DECAL SIDE/REAR 3000R 

EA 

0.0 lbs 

03-2690-0-217 
DECAL 4000D-X VS1/2DX 

EA 

0.0 lbs 

03-2690-0-229 
DECAL SMALL 4000D-X COMPOSITE VS1/2DX 

EA 

0.0 lbs 

03-2690-0-232 
DECAL NOTICE NO FUEL FILLER SPOUT EXTEND 

EA 

0.0 lbs 

03-2690-0-235 
DECAL CAUTION DISCONECT STANDBY ELEC PLG @ 

EA 

0.0 lbs 

03-2690-0-236 
DECAL INSTRUCT PLUG-IN HI-VOLT STANDBY VS2RA 

EA 

0.0 lbs 

03-2690-0-237 
DECAL TRIANGLE WARNING ELECTRICLA SHOCK 

EA 

0.0 lbs 

03-2690-0-238 
DECAL TROUGH COVER INSTALL INSTRUCTION VEC-

EA 

0.0 lbs 



Utility Trailer Mfg Co—Parts Catalog 

55 

03-2690-0-239 
DECAL EVAPORATOR GUARD MTG INSTRUCTION VEC-

EA 

0.0 lbs 

03-2690-0-240 
DECAL DANGER PRECAUTIONS FOR HI-VOLTAGE 

EA 

0.0 lbs 

03-2690-0-241 
DECAL PREVENT PLUG-IN HI-VOLT DOCK STANDBY 

EA 

0.0 lbs 

03-2690-0-242 
DECAL INSTR AUXGRND PIN HIGH VOLT DOCK 

EA 

0.0 lbs 

03-2690-0-243 
DECAL PATENT PENDING UTM SIDE SKIRT USS-120A 

EA 

0.0 lbs 

03-2690-0-244 
DECAL WARNING LOAD DIRECT TOP S/RAIL SECURE-

EA 

0.0 lbs 

03-2690-0-245 
DECAL WARNING SLIDING HOOK STORAGE SECURE-

EA 

0.0 lbs 

03-2690-0-247 
DECAL WARNING LOAD DIRECT W/STOP S/RAIL SECUR-

EA 

0.0 lbs 



Utility Trailer Mfg Co—Parts Catalog 

56 

03-2690-0-248 
DECAL WARNING LOAD DIRECT (ALSS) 1-7/16 X 9 

EA 

0.0 lbs 

03-2690-0-249 
DECAL WARNING LOAD DIRECT W/STOP (ALSS) 1-7/16 X 

EA 

0.0 lbs 

03-2950-0-012 
EYE COUPLER CASTING FOR CHANNEL 

EA 

12.0 lbs 

03-3120-0-259 
FILLER HARDWOOD 1-5/16X2-1/2X98 

EA 

8.2 lbs 

03-3120-0-294 
FILLER HARDWOOD 1-1/4X3-1/2X98 

EA 

10.9 lbs 

03-3120-0-371 
FILLER HDWD 1-1/4X2-1/4X98 3"FLR VS1/2RA 

EA 

7.4 lbs 

03-3120-0-372 
FILLER HDWD 1-1/4X2-1/4X98 3"FLR FRT VS1/2RA 

EA 

7.4 lbs 

03-3167-0-001 
FITTING CLAMP STUD 1/2 TO 3/8 

EA 

0.5 lbs 



Utility Trailer Mfg Co—Parts Catalog 

90 

03-6650-0-471 
RAIL ALUM FRONT TOP 95 7/8 3000R 

EA 

12.7 lbs 

03-6650-0-474 
RAIL ALUM W-BAND RFR 6X617 1/8 3000R 

EA 

45.8 lbs 

03-6650-0-476 
RAIL ALUM WRBND 6" X 616-5/16 3000R 

EA 

73.2 lbs 

03-6650-0-493 
RAIL ALUM WEARBAND 5-3/8"X627 3000R 

EA 

35.8 lbs 

03-6650-0-510 
RAIL ALUM FRT TOP 101-15/16 VS2DC-DX 

EA 

12.6 lbs 

03-6650-0-545 
RAIL ALUM TOP FRT CRN TIE PLATE VS2DC-DX 

EA 

0.2 lbs 

03-6650-0-564 
RAIL ALUM FRONT TOP 96W VS2DC 

EA 

11.9 lbs 

03-6678-0-025 
WEARBAND THINWALL 625-1/2 

EA 

104.0 lbs 



Utility Trailer Mfg Co—Parts Catalog 

91 

03-6678-0-028 
WEARBAND 18GA 12-3/8"X 623-1/2 

EA 

106.1 lbs 

03-6775-0-268 
REINFORCER ANGLE 10" LONG 

EA 

0.5 lbs 

03-6775-0-270 
REINFORCER HEADER SST 

EA 

0.2 lbs 

03-6775-0-287 
REINF ANGLE 16GA GALV X341" LONG TOPR 

EA 

20.5 lbs 

03-6775-0-306 
REINF STRIP ALUM PUNCH 95-1/5" SIDE SKIRT 

EA 

0.8 lbs 

03-6850-0-014 
RESERVOIR AIR 9 1/2" X 22 1/2LG 

EA 

18.3 lbs 

03-6850-0-017 
RESERVOIR AIR 8 3/16 X 29 B/W 

EA 

21.5 lbs 

03-6850-0-018 
RESERVOIR AIR 8 3/16X29-1/2 3-P 

EA 

22.0 lbs 



Utility Trailer Mfg Co—Parts Catalog 

107 

04-4050-0-065 
HEADER ASSY SST BRUSHED 102" W 

EA 

82.9 lbs 

04-4050-0-068 
HEADER ASSY SST BRSH REAR 102W 

EA 

47.6 lbs 

04-4050-0-069 
HEADER ASSY T-K 67" 3000R 

EA 

8.6 lbs 

04-4050-0-073 
HEADER ASSY SST SATIN FINISH 

EA 

50.1 lbs 

04-4050-0-080 
HEADER ASSY SATIN FINISH 

EA 

61.0 lbs 

04-4050-0-086 
HEADER ASSY SST SATIN 102W 

EA 

61.8 lbs 

04-4050-0-087 
HEADER ASSY SST BRUSHED 

EA 

61.0 lbs 

04-4050-0-088 
HEADER SST SATIN 102W 

EA 

60.9 lbs 



Utility Trailer Mfg Co—Parts Catalog 

108 

04-4050-0-090 
HEADER ASSY SWG DR 5/8" SHLWR SST 

EA 

60.7 lbs 

04-4150-0-003 
HOLDBACK "VENT" DOOR ASSY 

EA 

0.1 lbs 

04-4150-0-004 
HOLDBACK CABLE REAR & SIDE DOOR 

EA 

0.1 lbs 

04-4150-0-007 
HOLDBACK DOOR ASSY COVERT SNAP 

EA 

0.5 lbs 

04-4150-0-012 
HOLDBACK DOOR ASSY "COMPLETE 

EA 

0.7 lbs 

04-4150-0-013 
HOLDBACK DOOR ASSY SST 

EA 

0.7 lbs 

04-4200-0-001 
HOLDER ASSY DOOR HANDLE 

EA 

1.2 lbs 

04-4200-0-003 
HOLDER ASSY HANDLE SWG 304 SST 

EA 

1.2 lbs 




